A & 0l & A & F Al
EXNTAY SHEH A
mels M7 DNEBP 2E
23 28 (FXUHEAMY SE3H) (&)
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
296,500 387,340 A 90,840
g % ussEd 2= 163,636 268,048 A 104,412
FAE23 L (FUEAY SESH) 163,636 268,048 A 104,412
EHFEXN S 113,636 220,048 A2 106,412
ot2 Al 94,636 105,702 A 11,066
fateldl 26,540 31,040 A 4,500
Il =l 250,000& 6 1,500
FUHAHAE s2d2tE W&
300,000& =154 4,500
O =XAHE s MZ 50& %100, 0000H 5,000
O =3Xx LeiE IXNAM HME
80,000& *308f A 2,400
O ZgHd Ed+g 200,000& x53| 1,000
O HZR¥ 32T, 458, 212 500
O F=X3A cthtz 2 25,000 2004 5,000
O nszaAN 2me g £ 20,000 «50H 1,000
O WsSEAN BH AWM +<
10,000& 504 500
O REXE AEAH L S22 ME
100& %20, 0000H 2,000
O FEXRE BHZ ItAHI = =2
80& *8,000A 640
O SLHI(XSZH, AMEA) 2,500
2324l 68,096 74,662 A 6,566
O332= % HAl 24,972
DEHE DXN RELS(SIE)
1,770& «11,0000H 19,470
DEE DN SELS(LE)
2703 =10,0000H 2,700
RPN 500, 000& »2CH 1,000
BEMNERE = 100, 000& »2CH 200
HIIEMN =2 50,000 =2CH 100
si BEE= 750,980& *2H 1,502
OAEZHI S X 1,000
S ZH =X bl 500,000& 2K 1,000
OXt&tl 12,000
PE=E N ]| 4,500,000 »2CH 9,000
=R aEsONE:]| 1,500, 000& »2CH 3,000
O0lsd =83 EHAAE |FXEsH
3,960,000 x24! 7,920
OFZ X2 WMEHE JHAHE =HAIAE |X
2= 150,000& 128 1,800
OFEXLL BHE A2 RAEH
1,540,000& 14 1,540

_1_




2AMd: DS
MM oMGID WelE MW DESY 2E
©el: SHE FX2s ZE (ALY SE3H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSYFII REH(CCTV) HIlg
40,000 *8H 2~ *12& 3,840
OSYF=EX &5 SHR=S
140,000 84 A +122 13,440
O=YH=3X ¢ 2L MElA SAR3
66,000& «2CH =128 1,584
202 Oddl 19,000 20,000 21,000
01 = LH o4 1l 19,000 20,000 21,000
O=2Y=3X N 14,000
OZEF=XE gR=F24 5,000
SSFAE ZHIAY 50,000 48,000 2,000
401 Al HI K 201 I 50,000 48,000 2,000
01 A& HI 50,000 47,482 2,518
OZE=XZ FHAY 50,000
HY2FZH (LS) 132,864 119,292 13,572
OlH2YH (RS (FUHBAMY SHIIH) 132,864 119,292 13,572
IHARIH(F=UHESESIA) 132,864 119,292 13,572
101 @1 A Hl 132,864 119,292 13,572
03 RIAHAZZ2 T+ 130,783 119,292 11,491
OFFX 22 LA (4Y) 118,899
lZ2s 1,166,220& *4H 123 55,979
a0z 1,166,220 & »400%*4H 18,660
A== | 120,000& x4 H 128 5,760
M Z AlH| 130,000& x4 H «12& 6,240
SEA2RE 70,000 *4H 122 3,360
NEE LS
7,255 %1 5x15A] 2H+4H x 12 7,836
S22 f+E 58,0403 *1.5+4H 15 5,224
HESOHI(E,=4)
1,166,220& x120%*4H 5,598
It E At 58,040 *4H 102 2,322
24 400,000& x12& 4,800
=g (A2, 221, HE5) 3,120
O4liEg = 11,884
ZUH=RES 118,899, 000& *4.5% 5,351
HLEBEREES 118,899, 000& *3.035% 3,609
LOAIEERES 3,609,000& *6.55% 237
VEBERES 118,899,000 *1.5% 1,784
MHEE 903
04 DIt 22 XREES 2,081 0 2,081
OSEFxd &ZFH AFY
86,686 x2L «1H 128 2,081

-2 -




